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Topic:- Physics

1) A circular loop of area 1cm?, carrying a current of 10A, is placed in a magnetic field of 0.1T such a way that the
plane of the loop is perpendicular to the magnetic field. The torque acting on the loop due to the magnetic field is: /

1 92 &P arelt PR oo, SR 104 P URT USRI T R, 0. leﬁWWQﬁﬁwW?@%ﬁ?
Pl BT ad TEDI &F b d9ad 8 | THBIY &7 F PRUI Heail IR HRIRG e (A=

1.10™
2. 10°°Nm
3. Zero / ][I

4. INm

Correct Answer :-

2) If the ground state energy of hydrogen is -13.6eV, then the potential energy and the kinetic energy of the electron
in that state respectively are: /

Tfe gTESIoA P FIUaH 3aRAT -13.6eV FHull 8, A 3T T A AGe 4 o) fRufow 5wt @ nfow ot wo=r: gift:
1.27.2eV and -13.6eV / 27.2eV 3R -13.6eV

2.-27.2¢V and 13.6eV / -27.2¢V 3R 13.6eV

3.-13.6eV and -27.2eV / -13.6eV 3R -27.2¢V

4.13.6eV and 27.2¢V / 13.6eV ¥ 27.2eV

Correct Answer :-

« -27.2¢V and 13.6eV / -27.2¢V 3R 13.6eV

3) The coefficient of friction between the road and tyre of a vehicle is 0.04. The maximum allowable speed of a vehicle
which when takes a turning of 20 m radius along a level road is: (take g = 10m/s?) /

181 & TR 3R YSH & A THUI T VNS 0.04 § | I8 GRT U HSP & GHMIR 20 W1, A aeft i dA w®
It siftrean s fa e gt (g = 102 &)

1.22m/s/ 22 HiA

5 —‘W{E m.s.—‘hﬁ FﬁﬂT
; 2 mis/ A2 Ry
4 2»‘5 m.-s.lﬁ #’mfr

Correct Answer :-



Eﬁ m's | 2«}5 Fﬁm

4) After 4 half-life time, the percentage of original radioactive substance left will be: /
4 3G BTG & 9e, D! 53 ga Jearafera uerd &1 gfa=ma ghm:

1. 12.5%

2. 6.25%

3.25%

4.3.125%

Correct Answer :-

5) The magnetic field of a bar magnet is similar to: /

Ya P TS} TP THab BT DIy &7 e F auH gar g:

1. Magnetic field due to straight solenoid carrying a direct current / TSGR YR ared Areft uRATfeIHT & HRUI ﬂ'@?ﬁu P
2. Magnetic field of a straight wire carrying direct current / TSGR YRT A6H U WIe IR T ﬂﬁﬂﬂﬁ &

3. Magnetic field due to coil of wire carrying alternating current / YTl ¢RT T8 dR Bt @Sﬂﬁl & BRI I W’q &

4. Magnetic field of a straight wire carrying alternating current / AIadf ¢4RT aTE® WY R & W &

Correct Answer :-

« Magnetic field due to straight solenoid carrying a direct current / TH{GRT HRT ATge Wit GRANIDT & HRUT FEDH I &

6) While passing electric currents through two long straight parallel conductors in opposite directions, the magnetic force acting
between them will be: /

g faudia fezment A &) @ e JuETR Arae! & a1y @ fagad uRT yarfed faran sirar 8, @S9 uer wrf A aran
TEPG 99 =1 gm:

1. Repulsive / PIcEA

2. Neither attractive nor repulsive / - @l 3 3R 7 & ufdest
3. Attractive / 3THS(

4. Both attractive and repulsive / THHf 3R uﬁwﬁ’faﬁ:ﬁ

Correct Answer :-

» Repulsive / gl

7) The displacement of particle executing simple harmonic motion is given by y = 5sin20xt. Its frequency is: /
TR AT TfA B AT BT BT FIRITYT y = 55in207t F GIRT Ao forar S g1 g9t smgfy A g
1. 20nHz

2. 10Hz

3. 10nHz

4. 20Hz

Correct Answer :-



8) An electric dipole with charges +q and —q having the electric dipole moment ‘P’ is placed in a uniform
electric field ‘E’. If its dipole moment is along the direction of the electric field, then the net force on
acting on it and its potential energy are respectively: /

+q T -q 33N aren Agad Rya Rraer dgaa Rya smguf p 2, wo ww figaa &7 £ & war gon ¥1 afy swer Riya smgef
figad &7 ¥ TWFR 2, O 59 W W 9T e 99 qUT SHP TS et wew: e g

1. zero and minimum / [ IR Y-dH
2. gE and maximum / qE 3R SffermaH
3. qE and PE / qE 3R PE

4. 2qE and minimum / 2qE 3R Y-AdH

Correct Answer :-
« zero and minimum / [ IR Y-dH

9) When the light passes from glass to water, the parameter that remains constant is: /

W9 YT g | U d& TorRal SraT 8, af fRIR 38 aren iRefie @
1. Frequency / G'I'@ﬁl

2. Amplitude / 3TIH

3. Velocity /a7

4. Wave length / R %ﬂf

Correct Answer :-

e Frequency / \}HQﬁI

10) For an ideal transformer, the input voltage and current are 200V and 2 A respectively. If the output current is 1.5A, then
the output voltage is: /

% 3Texf uRad® & fore fAfase@aqe) dieear siv 4T HURT: 200 diee a7 2 TARR §1 af frfg @m8eye) UrT 1.5
ufarR 8, ot fefa dteear A el -

1. 400V
2.266.7V
3.2667V

4.26.67V

Correct Answer :-
e 266.7V

11) For wave propagation, a medium is necessary for: /

T & yae[ /g, e & R v areay Saxa s gian 8:
1. Xrays/X ool

2. Cosmic rays / 3fdf¥ef fof

3. Sound waves / & T

4. Infra red rays / 3{aRad {0}



Correct Answer :-

« Sound waves / &3 T

12) The bob of the simple pendulum is made with a hollow sphere containing mercury which is suspended by means of a
wire. If a little mercury is drained off, then the period of oscillation of the pendulum will: /

TR P BT TNa®, Sife TR A W T e § a8, T aR & |a1erd | dcorar a1 g1 afe 39 & UrsT Ut
freTa forar SITE, @Y e & St Bt afd:

1. decrease / U€ ST

2. remain unchange / Jqfeafea g
3. become unstable / 3RITS B ST
4. increase / 4@ GlTQTﬁ

Correct Answer :-

« increase / dg ST

13) The escape velocity of a body depends upon mass as: /
fis &1 9aTa= 37 goAH W 39 UoR ik swarg:
1. vexXm

2
2. voxm

3
3.vexm

4. Escape velocity does not depend on mass / UATIT I A R BN EREZGI %

Correct Answer :-

« Escape velocity does not depend on mass / UAIT T SH R R 7-|T§°[5|'7\’_CIT %

14) The moment of inertia of a thin circular disc of mass ‘M’ and radius ‘R’ about any diameter is: /
‘M’ FHHM 3N R’ BT areft yaelt qareR feve &1 39 fandt 1t o & ufva: Sisea smyuf A= @:
1. 2MR?

2. MR?

MR?

15) The equationy = A sin? (kx—ot) represents a wave with: /

FHBRT y = A sin? (kx—ot) TP 971 &1 1 F 1Y Al sRar g:



3 7
Amplitude A, frequency =y 3TI'~’-]WA=meF =9

T T
1.

. 4 4
Amplitude 2A, frequency il mmmmmj??r—m
T o

2 2
Amplitude A, frequency “® ) s A, HIcd e
o )

A A
Amplitude — | frequency 2 ramEm s . HTdled =
4 2 b 2 oo

Correct Answer :-

Amplitude % frequency & ) s éﬂ dlcd =

16) The capacity of a parallel plate capacitor in air is 55 x 10°°F and on immersing it into oil it becomes 110 x 10°°F. The
dielectric constant of oil is: /

%ﬁw@eﬁma&mm 10°°F 8, 3R 3 a@ A §aM W TE 110 x 10°°F F ST | A T WRTdgaadis

1.3
2.2
3. 1.1

4.0.5

Correct Answer :-

17) The range of wavelength of visible light in the electromagnetic spectrum is: /
fagua Tty Wagn ¥ eRTIR ybT=r & aei of 31 i gt 2

1. 3800nm to 7700nm / 3800nm ¥ 7700nm

2. 3.8mm t07.7mm / 3.8mm ¥ 7.7mm

3. 3.8fermi to 7.7fermi / 3.8THI & 7.7%H{

4. 3800 A° to 7700 A® / 3800 A0 & 7700 A°

Correct Answer :-

- 3800 A? to 7700 A° /3800 A® & 7700 A°

18) The significant figures of the number 8.0096 are: /
| 8.0096 F ATIH 3 &:

1.5

2.3

3.1

4.4



Correct Answer :-

19) The temperature of hot junction at which the thermo emf produced in the thermocouple becomes maximum is
called ./

ao i o1 98 A= FHgard ¢, o IR Ivdgaa 39 & IO a9 figad are® 9a Swad gl w8l
1. critical temperature / wifde am
2. inversion temperature / Sk HUT dTU

3. curie point / aqﬁﬁg

4. neutral temperature / REARIE I

Correct Answer :-

 neutral temperature / 3G I a9

20) The potential barrier of silicon at 27°C is 0.7 eV. The potential barrier at 47°Cis: /

27°C R ffRreTH &1 faua urdiz 0.7 v 81 47°C WR fava uriR A= g
1.0.6 eV

2.1.07eV

3.14eV

4.0.75eV

Correct Answer :-
e 0.75eV

21) If two electrons are forced to come close to each other, then the potential energy of the system will: /

gfe 3 saTei-l &) TAYdd TH-gax & Hdpe aran o §, ) yomet o1 fRufast et g
1. decrease / Gt

2. remain same / T X1

3. become zero / X[ B ST

4. increase / ITN

Correct Answer :-

e increase / aé_ 1

22) If three capacitors each of capacitance 1uF are connected in such a way that the resultant capacitance of the system is
1.5pF, then: /

1pF 4TReaT ara i Tenfe 39 upR 93 8 f womelt &Y afomedt enfvar 1.5 pr 31 9

1. two capacitors are connected in parallel and one in series with the parallel combination / 3 HuTa IuHR e § T{l@f % YT Uah,
QTR & a1 Ioft 57 & T 7

2. two capacitors are connected in series and one in parallel with the series combination / al gy A, 9oft wa | @ gaur U, goft &
1Y JHGR HH H JST

3. all three capacitors are connected in parallel / o enfe gaiaR A o T{],% g



4. all three capacitors are connected in series / Al e o pa o T{lﬁ g

Correct Answer :-

» two capacitors are connected in series and one in parallel with the series combination / CRSEIIRE] , oot H | T{l% % dYT Up, guit &
Y JHIR HH H JST 8§

23) In the relation y = r sin(ot + kx), the dimensional formula for kx or ot is same as: /
TdY y = r sin (ot + kx) T, kx T ot BT 3T T 596 U &:
wt

1 r

¥

zmt

g~

—

24) A water fountain on the ground sprinkles water all around it. If the speed of the water coming out of the fountain is ‘v’,
then the maximum area around the fountain that gets wet is: /

uﬁmuﬁmamﬁaﬁaﬁ?u&rwuﬁaﬁq\%m% gfe BeaR & 3 arat U #1 1fd v’ B, A AR & ARy
3R el g9 arelt Y &1 siftraw gwa g

25) When the switch is made off, a spark is seen inside the switch. It is due to fact that: /

&g &) w19 3w T SiTar 8, af SU& Wiar v R S@t o g@dr g1 991 A 9w & sRuTglan @:

1. no earthing is provided for the electric circuit in the building / Hd= " ﬁ’g’{qﬂ Ry & 1%112 ﬁ_ﬁt 3ifefar Tald :ﬁ)l PI Tlg %

2. very high induced emf is produced since the break is slow /Eﬂ%? fawe o gran &, 3afeu ggd 3= Iafars. Ia=gare



3. very high induced emf is produced since the break is faster / ?,_[ﬁ? [CEFGEEGIESIEY dgd 3=d IRafdars. Sa=Tgars
4. the short circuit is produced at the break / fd@sg ™ g oRuy fAffa grar g

Correct Answer :-

« very high induced emf is produced since the break is faster / ?jﬁ? ﬁ%_c{ ol @Tﬂ %, sﬂﬁ‘m §gd 3= IfRafaars. Ia= Eﬁ_dT %

26) A bulb of 60W is connected is series with an inductor and a dc source. Now the dc source is replaced by an ac source of
same rms value of voltage, then the brightness of the bulb will: /

60W FT TP Ted TP RSP 3N T AP-URT Hid & A1y Joft o0 H Fo1 71 39 fAp-uRT Tid &1 0 ReAes 0=
I dieedl & TATadl-URT Ed S gforeiia o= faar o 2, 9 9ed @1 99e o = uitada gim:

1. decrease / g

2. remain same / T XgTM

3. increase /E%Tﬁ

4. be exactly half of the brightness as that in the dc source / E'E’?JT\’T ga @ Eﬂe[ R I IH76 Zﬂ, It Bt 3Meft R \_rITQTﬁ

Correct Answer :-

o decrease / TeT

27) An object is placed at distance of 25 cm from a concave lens. If the image is got at Scm from the lens, then the power of
the lens is: /

TS a3 3aad a9 9 25 T Fi gt W & 31 wfafds a9 I 5 It 3 g8 w® o=t 31 Y A9 Y e A
1.6D

2.-16D

3. 6.25D

4.1.6D

Correct Answer :-

28) Two bodies of the same mass moving along a straight line in opposite directions with velocities 3 m/s and 6 m/s undergo
perfectly inelastic collision. After collision their velocities are respectively: /

% 81 5oaUE & o Ao ue W ar & ary faudia fammait § 3 /A aur 6 TR 31 & w1y yola: sy ees 3
FIPR oA &1 ST & TG ST AT HUM: B

1. Om/s, Om/s / 0 HI/A, 0 T/
2. 6m/s,3m/s/ 6 'Fﬁ@, 3HA
3. 4.5m/s, 4.5m/s / 4.5 T, 4.5 T
4. 3m/s, 6m/s / 3 T-ﬁ/@f, 6 A

Correct Answer :-

o 4.5m/s, 4.5m/s /4.5 T, 4.5 WA

29) Two resistors of 1002 and 20022 are connected in series with a 3.1 volt battery. If an ammeter of resistance 10Q is used
to measure current, then ammeter reading will be: /



1009 TUT 2000 UFARYY AT & UfARIeUS, 3.1 diee arelt 3¢t A A0 w0 & 2 71 3 100 ufeRiy arad v wiltex &1 Iwi
YRT P A9 $ o fpar sirar 8, @) uiier &1 urear. & foe= gim:

1. zero / [
2.0.01A
3.0.001A

4.0.1A

Correct Answer :-

« 0.01A

30) Two projectiles are having the same directions of projection. If their velocities of projection are in the ratio 1 : 2, then
their horizontal ranges will be in the ratio: /

3 yara} 1 wargor I = ® farar Sirar 81 9f 39% waur & A # 1 : 2 T Ut €, a9 39 afaw W 3"

1.4:1
2.1:1
3.1:4

4.1:2

Correct Answer :-

31) Pressure, Kelvin temperature and molecular mass of an ideal gas are respectively P, T and M. The density of the gas is: /

TSP AT NG BT 19, Sfedd dTTH dUT ATf0qh FSAT HHTT: P, T 9UT M g1 &) T &1 g f=1 ghm:

2T
MR

R
2. MT

iy
RT

MPT
4, R

Correct Answer :-

iy
RT

32) If one electron is removed from an isolated body, then the charge remaining on the body will be: /
afe U TeTa! fUs A U gaag Hera fear o, af fis R A9 sma=r e gim:
1.-1.6 x 1019 coulomb / -1.6 x 10°° HaArH

2. 1.6 x 10'? coulomb / 1.6 x 10'° HaH



3.1.6 x 10" coulomb / 1.6 x 10710 T
4.32x 10" coulomb /3.2 x 10717 W
Correct Answer :-

« 1.6x 10" coulomb /1.6 x 10°'° HaH

33) A current of 2 ampere produces a deflection of 30° in a tangent galvanometer. A deflection of 60° will be produced in it
by a current of: /

TRIT YRTATH H 2 TFR/ER BT URT 300 BT {IE901 IU=1 Bl 31 $TH 60° BT fA&qor e URT gRT I gHIO:
1. 6A
2.3A
3. 1A

4. 4A

Correct Answer :-

34) A box is there on the top of a truck moving horizontally. The coefficient of limiting friction between the box and
platform of the truck is ‘p’. The maximum acceleration the truck can have without the box sliding is: /

oS U | 961 918 TP ¢ & M IR TP 9T 81 91T 3R °F & WewiH & o @Ry ayfor < g1 i sfea &
TP TP BT ARG @IV §NI:
Lug

2. p’g

E |m

3,
4. Jus

Correct Answer :-

35) If ‘g’ is the acceleration due to gravity on the earth’s surface, the gain in the potential energy of an object of mass ‘m’
raised from the surface of the earth to a height equal to radius ‘R’ of the earth is: /

Tfe 7} ) Tag W o F R @R ‘g B, A ‘m’ FSTHT aTell 39 avg 3t fRAfaw Huf & gfS =1 gl o g
P Tde | 7 F B R’ & TR HATS 96 SSATTATS -

1. mgR/4
2. mgR/2
3. mgR

4. 2 mgR

Correct Answer :-

36) A 2kg mass is acted upon by two mutually perpendicular forces 3N and 4N. The acceleration produced on the body is: /



2 T, gaw= a1d A1 WR g YRR dadd 9 3N 3R 4N FRIRd &1 df e/ IR 3= @Ru1 g1T:
1.2 m/s?
2.2.5 m/s?

3. 10 m/s2

«.E m/s?
4,

Correct Answer :-
o 2.5m/s?

37) A process in which volume is kept constant is known as: /
I8 WohH o simaa fRR @ ST §, Feard @

1. Isothermal process / T U H

2. Isobaric process / FHGTE Ueh g

3. Isochoric process / FHEAM® ThH

4. Adiabatic process / R ywHH

Correct Answer :-

 Isochoric process / JAIA® ThH

38) On a hill station, water boils at 95°C. The temperature expressed in Fahrenheit is: /

TP 1T I R, THT 95°C TR ITAdT & | 9 a9 P! BRAGISC A oad H U ST A gHIT:
1. 171°F

2. 203°F

3.20.3°F

4. 100°F

Correct Answer :-
e 203°F

39) The resistance of a wire is 10Q. It is drawn in order to increase its length by 100%. The new resistance of the wire will be: /
T dR BT UfRIY 10Q B 1 TP AGTE A 100% 6 Pt g B F ore 39 ©em man1 arR &1 = ufadty A= ghm:
1.20Q

2.2.5Q

3. 40Q

4. 5Q

Correct Answer :-

e 40Q

40) A rigid body of mass ‘m’ rotates about an axis passing through its center. If the angular velocity of the body is
unity, then the moment of inertia of the body will be equal to: /



‘m’ SOIHT ATdT U €6 (DT (U b | gIbx ok aTdl 3H&f & Iid: goar g | afe e & sivita a1 § tpsuar
2, @ fifs ®1 SIsw 3myuf 39& SIS gR:

1. Twice the angular momentum of the body / fAer & iofig o @t _cﬁ":ﬂ'[
2. Twice the kinetic energy of the body / A ot 1fas Soif o1 W

3. Angular momentum of the body / @ o1 Hivig Fat

4. Kinetic energy of the body / g ot it Sorl

Correct Answer :-

» Twice the kinetic energy of the body / e Bt 1o Sl #1g G|

41) To remove the barrier potential from a p-n junction diode : /

TP p-n SR STTS ¥ Aeht favg (f@va wriz) gem & e -

1. The diode is to be forward biased / STAIS DI U VA HIAT GIcT %

2. The diode is to be reverse biased / TS HI UXT N HRAT &I &

3. A low current is to be sent through the diode /A H 33@_{ A 4T Ot S Eﬁ?ﬁ %
4. A high current is to be sent through the diode / SRS Eﬂm I=T YRT UG Bt @T‘ﬁ %

Correct Answer :-
« The diode is to be forward biased / SIS BT 3 YT HAT BWT‘IT %

42) A particle is thrown upwards with a certain initial velocity. It reaches the maximum height and subsequently
returns back to the initial point. Throughout its motion, the physical quantity which remains constant is: /

% BT U A3 uRIIE 37 & 914 SR B 3R BT 91T 8 | I8 ST SHaTs b Ug & 91¢ URINS fig W
IO 3T 7T 8 | 39 G 1f & R, FRR T aeft sifores ifXr 8:

1. Speed / dTdT
2. Acceleration / ©dXUI
3. Displacement / faRITG

4. Velocity / T

Correct Answer :-
e Acceleration / dxUT

43) A body of mass ‘m’ is projected with a velocity ‘u’ at an angle 30° with the horizontal. The magnitude of the change
in momentum at the end of the flight is: /

‘m’ W@l:r"mwﬁam‘u’aw%wusm%éﬁﬁaﬁwwmﬁa%mw%l IS & 3id A Ha & yfad= &1

1. mu

2. 2mu

miul
2

3.

4, /2 mu

Correct Answer :-



There is no deflection in the galvanometer connected in the given circuit The resistance ‘R’ is equal to: /

BT 7w oRTy #, 5 deaeniey § #% TEger =T 9@ ) 9y R FE & e ge -

1. 6Q
2. 10Q
3.2Q

4. 30Q

Correct Answer :-

a5
) The limit of resolution of the microscopeis 4 x10"m and the cone angle of the light falling on the

objective is equal to 45°. If the refractive mdex of the medium is 1, then the wave length of lightused is: /
eAc & fadis=r 1 WA 4 x107H § AR aFd R Adfdd FHrer &7 26 HI0T 45° F alea)
81 T ATHA M 39dciain 1 8, o S TebTel HT oA A FECHATe BT &

. 57 x 10%m / 5.7 x 107 &r

, 57 x 107 m / 5.7 x 107 &T

] 57 % 10%m / 5.7 x 10 &r

4 57x10%m {57 x 10° HT

Correct Answer :-

57 x 107 m / 5.7 x 107 &r

46) The displacement-time graph of two bodies A and B are straight lines inclined at an angle 30° and 45°
v
with time axis. The ratio —J‘ is: /f
‘B

ar el A B &7 Torurgeiare s drfl 3@ § 3R SeaeT & e 300 {450 &

Vv
FIOT O S §1 & T S G

B

1.3

—_



47) If the work function ofthe metal having threshold wavelength Ly is wy, then the work function of the
metal whose wave length % is: /
EEell AT S Ly arell OTd & S Bere wo &, o % T L arell 9T W FE Gl
gIam:
1. 8wy
2. 4wy
Wo
3. 4
Wo
4. :

Correct Answer :-

. SWO

Which one of the following graphs represents the photoelectric current verses intensity of the incident
radiation? (I— current , I — intensity of mcident radiation) /

fFaaf@d # & &l @ T% yeREaad ORI aed 3mafad afeer (1-em, smfad
fafexor &1 digar 1) &1 Ffa & &7

ERVEAN

4y (II) (IID) (IV)

1. (I)
2. (1)
3. (IV)

4. (1)

Correct Answer :-

49) A wire fixed at the upper end, stretches by a length ‘I’ when a force 'F’ is applied. The work done in stretching is: /



TS dR &1 S RIY W e foran e 8 iR 1 da1s a@ Wi Siren 8, 919 'F an fsar sirar 81 e & SR fosan
T Rt = gm-

1. 2F1

50) When a sphere having moment of inertia ‘I’ about an axis passing through its center of gravity and mass ‘m’ rolls
from rest down an inclined plane without slipping, its kinetic energy is: /

q e & % W FIH? A FIb oA a1 30 URA: ‘1 TS SMYUi 3R FTHE ‘m’ qTaT et faRmarawT & fom fraa
T TTd T A qebdl 8, 3UP! e SHof f gl &

1. o + mv
1
— Iw?
2
2.
| G | .\
— I’ + — mv?
2 2
3.
k. g
— mv-
4
4. "

Correct Answer :-

Topic:- Chemistry

1) Given below are the standard reduction potentials in aqueous medium for the following. Which is the correct
decreasing order of their oxidizing property? /

fFrafafaa & R sty areaw ¥ aee sread fava 1R 3 M 71 399 sifefte<or qured &1 98t gear va &
&2

AB* / Al; E9=—1.66V
T+/ TI; E0 = +1.26V
In3*/ In; E° = —0.34V
Ga3*/ Ga; E® = —0.56V
1. Al>In> Ga>TI

2. Al>Ga>In>TIl



3. TI>In> Ga> Al

4. TI>Al>Ga>1In

Correct Answer :-
e TI>In>Ga> Al

2) The correct order of reactivity of following compounds in nucleophilic substitution is: /
AR ufaeuree # fFafafaa el o sromifaesd &1 68 w49 8

i CoHsBr i CoHsCl i CgHgCHLBr  iv CH30CgH4Br

Liii>i>ii>iv

2. 0i>iv>iii>i

3.iv>ii>iii>i

4. i>ii>iii >iv

Correct Answer :-

e dii>i>ii>iv

3) Which one of the following statements is CORRECT regarding enzyme inhibition action? /
TOITEH SRTaRTY fian & IR # i & 9§ 19 91 539 98 82
1. Competitive inhibition is seen when the substrate and the inhibitor compete for the active site on the enzyme. /
TRaETdT SIARTARIY T ST ST & O 3axaR 3R UTaR 1Y ol TR Aishd WIse & oy GebTaral hd & |
2. Competitive inhibition is seen when a substrate competes with an enzyme for binding to an inhibitor protein. /
GRGTT SfeRTERIY T ST ST 8 Oe T AR, UTaRIYeh U J st & f7g Teb ToigH & 1Y HepTarell bRl g
3. Non-competitive inhibition of an enzyme can be overcome by adding large amount of substrate. /
T TSITZH BT ATAaNT SIaRTaRIY SISt AT H AR ST o foh T off Jhd 8|
4. Non-competitive inhibitors often bind to the enzyme irreversibly. /

T 3ufaanft SIRTERIY, SRR uRad-1 70 I TSSH & 1 §ed gl

Correct Answer :-

» Competitive inhibition is seen when the substrate and the inhibitor compete for the active site on the enzyme. /

TN SARTERIY TF SN ST § O1d SR 3R UTaRIYd TSIIeH IR Aoy WZe & fore GhTaa ad ¢

4) Ky (Henry's constant) of N> and O, for a solvent are 76 kbar and 34 kbar respectively, at a given
temperature. This implies that: /

AT 7T aTuH™ W, UH fAaas & T N, T 0, &1 Ky (3991 fRR1®) UM 76 kbar TS 34 kbar 81 39T 313 &:
1. Nitrogen is less soluble in the liquid than oxygen /
AZeroH, Ga o SfiRiieH ot 3ie HH ge=id gl 8|
2. None of the above /mﬁﬁgﬁ
3. Oxygen is less soluble in the liquid than nitrogen /

TR, ga § ATgersT @ & HH Yoie gidt B

4. Partial pressure of nitrogen is same as that of oxygen /



TASCIo B 3k a4, SiRiIoH & THH= gIe 3 |

Correct Answer :-

« Nitrogen is less soluble in the liquid than oxygen /

TECIoH, 5a W SRiIoH BT e HH geria gt 81

5) The phosphodiester linkage between pentose sugar of nucleotide is present between carbon at: /
IfRrdieTse $1 I ThT F 9T BIEpISEwRR Geaud], U SIa9 & a1 Hieg el |
1.2and3/2Td3

2.3and 1/3Td 1

3.5and3/53d3

4.5and2/5Td?2

Correct Answer :-
e 5and3/5 Qa 3

6) The number of electrons required to deposit 1 gm atom of aluminium (at wt =27) from a solution of
aluminium chloride will be: /

Ty FeRTss & faeas 3 TREfiffaw & 1 U1 WRUT) (URETY] UR =27 WR) & 54 H34 & I razas sadeHl
P T= feat gt

1. 1M
2.3M
3. 1N

4. 3N

Correct Answer :-

7) 0.5% of aqueous solution of potassium chloride found to freeze at 272.76 K (Ks of water is 1.86 K kg/mol).
The van’t Hoff factor is approximately: /

TIRAY FRISS ¥ 0.5% el faea B 272.76 R (96 FT Ky =1.86 Hica farum/aman) wR staw difea
(SPIST) UTdT T | 9 8T% oy, T H

1. Cannot be predicted / 3{JHIT T T ST T g |
2. 1

3. 2

b | =

Correct Answer :-

8) Which of the following does NOT reduce nitrobenzene to aniline? /

fFafafaa o @ $i9 a1 Agea-id $i i & srfra 78 wear 22



1. LiAlH,

2. Sn/HC1

3. SnCl,/HCI
4. Zn/HCl

Correct Answer :-
. L1A1H4

9) Which of the following is the least reactive alkali metal? /
fFrafafaa & @ #19 3@ a9 $u sifufrasia e urg 82

1.Rb

2. Na

3.K

4. Li

Correct Answer :-

o Li

10) 5 ml of freshly prepared ferrous sulphate solution is taken in each of four test tubes.Strips of aluminium,
magnesium, silver and copper are introduced in these tubes.A black residue is obtained in two of them Identify
the pair./

5 firelt aet R fR T B Wethe faeaH &Y ARl Sitg WAt § frar Sirar 31 39 et o vegHitay, SfifRnm,
TS} T a1y F ufgal o ST S 81 399 A & el # Srar 3Gy Ut gt 81 TTH S ugEi|

1. Copper and aluminium /W@Wﬁqﬂ

2. Aluminium and copper/Q?ﬂ"ﬂﬁ'ﬂﬂQ—d’ﬂ'{H
3. Magnesium and aluminium /ﬁ‘éﬁm@m

4. Magnesium and siIver/Wﬂ@ﬁ

Correct Answer :-

e Magnesium and aluminium /ﬁﬁﬁmqawguﬁﬁm

11) The concentration of N>Os is 2.33 mol/L and after 184 minutes, it is reduced to
2.08 mol/ L The reaction takes place according to the equation
2 N7Os5 (g) — 4 NO3 (g) + O3 (g), the rate of production of NO> during this period is: /

N,O5 @ Higdl, 2.33 AH3AU]/ e B TS 184 fiHe ¥ q1q, Ug Uedv 2.08 UTH3U]/¢ftex §f wrdl & 1| FHiawur 2 N,Os (g)
— 4 NO; (g) + 05 (g) ¥ 3FHR, 3iffehar Tufed gt 8, 39 3r@fy & R N0, F IATEH BT R 8:

1. 6.79 x 10~ mol L™Y/min / 6.79 x 10~ AT dtex1/fie

2. 2.72 x 1073 mol L™ min™1 / 2.72 x 1073 UTHS] eitex—1/fie!

3. 0.679 x 10~ mol L™Y/min / 0.679 x 1074 UTHSHY] e 1/fe
4.0.272 x 1074 mol L™Y/min"1 / 0.272 x 107* AT 3(Y] cifex—L/fBe!

Correct Answer :-



e 2.72x 1073 mol L™ min™1/ 2.72 x 1073 T 3(Y] cifex—L/fBme!

12) While cooking the bottom of the vessel is getting blackened on the outside. It is due to: /
WHT UH™ & R, o= B aclt a1gx Bt 3R & Heft U A1t 31 T 47 $RO1 & giedt &

1. Food is not cooked completely / e q:Uqu@ :l_EﬁtIWT%I

2. Fuel is burnt completely /%W@W@GHGITHT%I

3. Fuel is wet /_sc?FTTﬁFITEﬂﬂT%I

4. Fuel is not burning completely /éﬂ?‘{ﬁﬂ@ﬁﬂﬁ?ﬂ%l

Correct Answer :-
e Fuel is not burning completely / %W@W@ﬁm%l

13) The hydrocarbon that shows isomerism among the following is: /
fFrafafEa & A S A1 g5 IPTe-, THTGUadT SIidT 8:

1. CsHyp

2. C3H4

3. CoHg

4. C3Hg

Correct Answer :-

o CsHyp

14) The enantiomer of a-D-(+) glucose is:/
a-D-(+) TSI PT ufafdd &0 g:

1. a- L(-) glucose / a- L(-) TS

2. a- D (-) glucose / o- D ()T

3. B-D(+) glucose / B-D(+)TPIWA

4. B- L(-) glucose / B- L(-JTP IS

Correct Answer :-

e a- L(-) glucose / a- L(-) w

15) Name the metal which is a constituent of green colouring matter in plants. /
I YT BT ATH FaTd o) el & g% 371 uerd &1 U e 2

1. Calcium / P

2. Magnesium / TRy

3. Sodium / TfgTH

4. Iron /?ﬁ—e'

Correct Answer :-

« Magnesium / B



16) When water is electrolysed, it produces hydrogen and oxygen gas.What type of reaction takes place in this case? /

9 STe 1 Agad Sruufed a1 Sirar B, i 78 grggie U SHiaio A &1 Scte Bedl ¢ | 39 fRufe # fpa yor &t
Srfferar gidt 32

1. Displacement / faRiTg=
2. Combination / JaISH
3. Double displacement / f§-fa=uTo=

4. Decomposition reaction / 3qere ufdfsharn

Correct Answer :-

« Decomposition reaction / 3gge Ufafshar

17) Propene and propane can be distinguished from each other by i
MR EWA S gRITS g 9 RuRa fear st awar 21

1. Red litmus paper ) Ard feeng-u=

2. Bromine water / STHIM oIl

3. pH paper / pH TR

4. Blue litmus paper/:ﬂﬁm-ﬁ

Correct Answer :-

« Bromine water / STHIF Sfdl

18) Low oxidation states in transition metals are found when: /

Tepuur urget B A1 STRAIHRUT SrEawITE, 99 UTS wTelt § o9

1. A metal complex compound has ligands capable of o-bonding. /
T UTg Ay DS T o-3Mmae T Tem Jadi g g1

2. A metal complex compound has ligands capable of m-acceptor character in addition to the o-bonding. /
TS YT Ty DD & o-3M1aie & o anT & n-TieR) upfa & vem ol g 8|

3. A metal complex compound has ligands capable of m-acceptor character. /
T o1 Y DA T n-TfHR) Upla & Germ Jerh g1 g

4. Central metal ion shows inert pair effect. /

H1g UTq AT 3Afhy S yuTd TelRfd e gl

Correct Answer :-

* A metal complex compound has ligands capable of m-acceptor character in addition to the o-bonding. /

TS YT Ty DA & o-3M1aie & o an & n-TieR) upfa & gem Jauh g 8|

19) PCl; is ionic in solid state and exist as: /
3 SERITH, pel; TS gha & T U Rgamr g §
1. [PCl4]" [PClg]*

2. [PClq]* [PCle]



3. [PCl]* [PCI3T
4, [PCI3]* [PClL]

Correct Answer :-
* [PCl4]* [PClg]

20) Identify the element which is both brittle and non-ductile. /
I a0 $} TgEH BN, St HR 09 R-a=a &1 g1 2

1. Platinum / @feTH

2. Sulphur / Tt

3. Silver / EIC

4. Gold / |

Correct Answer :-

o Sulphur / Tt

21) Which one of the following elements will lose an electron easily? /

frafifad & @ $19 91 9, IRadT 3 U sdagi @l 3a1 82
1. Mg
2. Ca
3. Be

4. Sr

Correct Answer :-

22) Which of the following properties belong to halogens family? /

frafafae & & 1= a1 qurend daieq uar & T&fta @2

1. They have 1 electron in the valence shell /mﬂtﬁ\?ﬂm @W@T‘D ﬁ 1 Wﬁm%l
2. They are highly metallic in nature /Y 3fd WW%E’P@%I

3. They are mono-atomic /ﬁwqmw (‘ﬂ:ﬁ-@ﬁ@ Eﬁ?f%l
4. They are strong oxidising agents /YA &Wwaﬁ%l

Correct Answer :-

« They are strong oxidising agents /A gEd &ml'@aﬁ?{l

23) Misch metal is an alloy consisting of: /

forzr tg, wa frgreng B, ot 54 Affa gar 8:

1. Rare earth metal, iron and traces of S, Ca and Al / t{l?ﬁ & @Ffﬂ-r dd, ?ﬁ'a’ 3R S, CaTd Al & 39y
2. d element and traces of S, Ca and Al / dcd d 3R S, CaUd Al & 3TN

3. Alkali metal, iron and traces of S, Ca and Al / &m 1q, ?ﬁ’s’ 3R S, CaTd Al & 3G



4. Rare earth element and traces of S and Al /q&ﬁé?gﬁuaa 3R S T Al & 3aRY

Correct Answer :-

« Rare earth metal, iron and traces of S, Ca and Al / Q2 & oy dd, T8 3R S, Ca UF Al & 3@

24) The molarity of sulphuric acid solution is 18, if the density is 1.8g/cc, then the concentration in mol/kg is: /
YRR 3 faera &Y TH 3(u[edT, 18 81 TfS ¥ 1.8g/cc 8, @ mol/Kg H JTEUT ERI:

1. 0.05m

2. 50m

3.5.0m

4. 500m

Correct Answer :-
e 500m

25) The sodium salt of an unknown anion when treated with MgCl, gives a white precipitate only on boiling. Identify the

anion. /

TS T BUMG &b THSTH TG0 B SId MgCl, P A1Y ITRTR {571 ST & o 98 Padd $U9 R TP g a8y T
HEIREREEIE LY

1. CO3%~
2.80,7~
3.NO5~

4. HCO5~

Correct Answer :-

26) The non-stoichiometric compound Fe( 940 is formed when x % of Fe?" ions are replaced by Fe* ions. The value of x is:
/

IS Fe?* 3T & x%, Fe** 3TAHT A UFIRATRAG 814 8, T S IAWHIBUMHAT AP Fe 0,0 BT FrATor grar g1 at x o1
A E1:

1.15

2.12

3.6

4.18

Correct Answer :-

- 18

27) The enthalpy of vaporization of a liquid is 60 kJ/ mol and its entropy of vaporization is 150 J/mol. What is the boiling
point of the liquid at 1 atm.pressure? /



TS Td S a1l BT QUITH, 60 fpeiioe/ Hid 8 3R 3H®! arafieor #t T2id, 150 S/ g1 1 agHsdy g|
TR ORE BT HYID T 3?2

1.250K
2.200K
3.450K

4.400 K

Correct Answer :-

« 400K

28) The important arsenide type of semiconductor devices are prepared by combination of ___ groups /
SefaTa® IUHRUN & HEaYUl ARASS UPR,  THE! &b JI- gIRT auR {6 &ra €1

1.13and 15/ 13 T4 15

2.13and 11/13 TG 11

3.12and 10/ 12TG 10

4.12and 15/12 T4 15

Correct Answer :-

e 13and 15/13 T4 15

29) Compound A is reduced to an alcohol B by sodium in ethanol. A and B answers haloform test. A is: /

NP A, TIATE & Wfeaw & gR1 NS B A sufaa g1 21 A 3R B A 8awid udiervr &1 wiard faari A §:
1. Propanal/mﬁﬁa
2. EthanaI/Qaéla

3. Butanal /@ﬁa
4. Methanal / H3d

Correct Answer :-

e Ethanal /Eﬁ?’l

30) Gypsum on heating to a temperature above 120°C gives: /

foreaa o1 120°C A 3P & IUHE R TH A S I 1 fFmfor gar 21

1. CaSOy,

2. CaO + SO3
Ca504-2H,0
Cas0,-¥: H,O

Correct Answer :-

.« CaSO,

31) Chlorine dioxide contains odd number of electrons but does not dimerise because: /



FAN STESHTaTES # faww W # gadgi= 1d €, Afd feqa @rerige) =&t 8id § wife:
1. Odd electron on chlorine atom is delocalized /
FARI TRAT] R {350 3o SRUTH® g ] 1
2. Odd electron on chlorine atom is localized /
AR TRATY TR fav Saige = R g § 1
3. Odd electron on oxygen atom is delocalized /
SfTerfIor TRETY] TR A gaae, ST g1d B
4. Odd electron on oxygen atom is localized /
SHTeRAISI TRATY] IR fIwH 3aiee = =i gia B
Correct Answer :-

e 0dd electron on chlorine atom is delocalized /

FARM TRATY] R fav Saaei= SR gid & |

32) If the empirical formula of an organic compound is BrH5C,, then what is the percentage composition by mass of
bromine? (at. Mass of Br = 80) /

gfe U STd-d NS BT SFUITT JF BrHC, B, Al THAT & SoTHH BT UIA=Td JaIeI 1 82 (Br BT ST = 80
)

1. 73.4%
2.85%
3. 88.2%

4.79.9%

Correct Answer :-

e 73.4%

33) If the standard internal energy change for the combustion of methane is —Y kJ/mol at 298 K, then what would be the
value of AH"? / 9T BT & g1 & 1T 298 K W AHS Siiaike Sl ufvads, -y foraisra/aia 8, af AR &1+ |1
gIm?

1. +Y kJ/mol / +Y foraisie/Hiat

2. Y +4.95 kJ/ mol / —Y + 4.95 faaIe[el/dia
3. Y kJ/mol / Y foaieel/daa

4. -Y-4.95 kJ/mol / ~Y~4.95 foraiio[a/aa

Correct Answer :-

« —Y-4.95 kJ/mol / ~Y-4.95 forairoa/dd

34) Esters are reduced to aldehydes by using .
BT TN P3P TR P Ueserss A rufa fear srar g1
1. Sn and HCI / Sn T4 HCI

2. Hy/ Pd



3. Di-isobutyl aluminium hydride / STs-3TSHICTsd TIHIATH BT3S2S

4. NaBH,

Correct Answer :-

« Di-isobutyl aluminium hydride / S-S TIHLTS A TTHIIH TSRS

35) Hydrolysis of sugar is catalyzed by H+ ion. Half life of the reaction is independent of initial concentration of sugar at a
particular pH. At a constant concentration of sugar, the rate increases ten times when pH is decreased by one unit. Pick the
CORRECT expression. /

IIHRT BT TA-3TTEH, H+ AT §RT SN gia1 81 T FAfR® pi wR fforan 3t srtamy, =rdher Y ykflre wigar 3
WA gl ¥ 1 T 1 R FigaT W, 59 FIvg TP P15 9P "edl 8 dl &3 o AT gl 8 | Tl U &1 79 He |

1. r=k[sugar][H+]

2. r=k[sugar]1/2[H+]0
3. r:k[sugar]2

4. r=k [H+]

Correct Answer :-

e r=k [H+]

36) Which of the following sets of quantum numbers correctly describe an electron present in 4f orbital? /
BTed SETe o1 Fufif@d & & @19 91 Ag, 4f Bae 1 ST TP 3aae &1 Udl & qui Sare?
1.n=3,1=2 m=-2, s=-%

2.n=4,1=3 m=+1, s=+ 1

3.n=4,1=3, m=4,s=-1

4n=41=4 m=-4 s=+"%

en=41=3 m=+1, s=+"%

37) Which of the following is not an electromagnetic in nature? /
fu # @ o= @ vofa # fagaa-geara T8t 32

1. Sound waves / @ A

2. Radar waves / T8R A1

3. Ultra violet rays / RIS fahRof

4. Infra-red rays / 3{dXad fxof

Correct Answer :-

« Sound waves / &3 TR

38) Which one of the following statements is CORRECT about denaturation of protein? /
M Y fagpfaso & 9 # =il § S #1991 sy 98 82

1. Renaturation is reverse of denaturation /

gRedTe (RARe), A asm o &1 gahd & |



2. Physical properties of protein changes /
W & 1ifards Ton &1 afkad=
3. Denaturation is always irreversible /

faepferep=ur, W efgehHuita Bl 8|

4. Denaturation is carried out by change in pH /
fapfamor, pr & Seard HRd I Srar |

Correct Answer :-

« Denaturation is always irreversible /

faepTerep=ur, Wad SfgehHuii Bl 8|

39) Which one of the following statements is CORRECT about the oxides of nitrogen? /

A3 & 3ifaTss & IR A FufrfRla A A T FYT I 3?

1. Nitric oxide is paramagnetic in gaseous state /W &IVWIEE, T ST & @W@W%I

2. Nitrogen trioxide is an anhydride of nitric acid /?@WWH\@E@, W 3R WWW@%@%I
3. Nitrogen pentoxide is liquid at room temperature /:ns‘@mﬁaaﬂm, P& dU IR ﬁm%l

4. Nitrogen pentoxide is a reducing agent / ?IBE:IGFI ﬁ'aa;rm—s', Th W%I

Correct Answer :-

« Nitric oxide is paramagnetic in gaseous state / g 2@ Hmﬁg, T ST | HW@HT%I

40) Identify the metal used and the compound formed as the byproduct when the large scale preparation of hydrogen is
carried out by Lane’s process? /

STANT B 773 U1g 3R IUeTE & U F 99 G &) ugar S, St a1 ot uferar gRT 98 39M W g5 o &1
frafor fpg o & RA T 22

1. Al, AlLO3
2. Ca, Ca(OH),
3. Fe, F6203

4. Fe, Fe304

Correct Answer :-

e Fe, Fe304

41) PHBYV is a biodegradable polymer with linkage. /
PHBV U® S+ sga® ¢, frad  ggauargidi 81
1. amide / THIZS

2. methylene / By
3. sulphur / JebX

4. ester / TR

Correct Answer :-

o ester /UL



42) The halflife period of 54 5r *®is 20 years. If a sample has an initial activity of 8000 disintegrations/min,
then what would be its activity after the lapse of 80 vears? /
5 St°° T 33 AT 20 af {1 A ve w1 FHfEE afafafr 8000 faEes/fAee

ar 80 a6t &1 gAfta & aig sudhr afafafr &= gefn

1. 7501 disintegrations/min / 7501 faue/ffme
2. 510 disintegrations/min / 510 fdgea/ffe

3. 7550 disintegrations/min / 7550 faue/fme
4. 499 disintegrations/min / 499 ﬁﬂ?‘f[&ﬂ?

Correct Answer :-

« 499 disintegrations/min / 499 fdge/fire

43) On what does the value of the universal gas constant depend on? /
A T R foa R R swarg?

1. Temperature of the gas / 9 BT AqAA

2. Units of pressure and volume / GId 3R 3 DI ECARI

3. Pressure of the gas /G HT S

4. Number of moles of the gas /T F Wﬂﬁ DI G-

Correct Answer :-

 Units of pressure and volume / ¥ 3R 3T Bt ECaR|

44) A hydrogenation reaction is carried out at S00K. If the same reaction is carried out in presence of a catalyst at the same
rate required at 400K, energy barrier is lowered by 20kJ/mol, then the activation energy of the reaction is: /

TSP T3S o STUTHAT 500K TR Ft o1l 81 afe agt Sifufehan, 400K TR THH &R T T SO 3t SURITA d $T o,
@ SHel-AfT 201 S[a/ e 9% FH 81 w1l 7, srfufspar &t afpaur Fwif 8

1. 200 kJ/mol / 200 faA@/AA
2. 500 kJ/mol / 500 fordis@/Ard
3. 100 kJ/mol / 100 fora@/Ad
4. 300 kJ/mol / 300 foraSLa/dId

Correct Answer :-

« 100 ki/mol / 100 faI@/Ha

45) During froth floatation process, is used as a depressant to separate PbS from ZnS ore because only forms
complex with the depressant thereby preventing its froth formation. /

R Yaa Ufehdar & R, BT YGRT, ZnS A PbS B JU®H HI F AT sraqesd & Fu A fvar wirar 3, Fife
Fad JaTGH & TTY JY o1 fFAuior H3a1 8 3R 39 @=e A or1 FFwfor 1 Aspar 21

1. NaCN, PbS
2. NaCN, ZnS
3. NaOH, PbS

4. NaOH, ZnS



Correct Answer :-

« NaCN, ZnS

46) 1-Methyl cyclopentene can be converted into 2-methyl cyclopentanol by: /

P gRT 1-FruTsa Argaed N, 2-Frurse arsaat=da # ©uidd 8! I&dT g|
1. Dehydrogenation /ﬁ’&ﬂ%@ﬁ:ﬂ
2. Hydroboration / BT'{@E}ITTH:T

3. Oxymercuration-demercuration / &ﬁm-mﬂ
4. Acid catalyzed hydration / TS IANT STerdioH

Correct Answer :-

« Hydroboration /@ zglai R

47)  Given beloware the plots showing the variation of probability density (psi) (r) as a function of distance
‘r’ of the electron from the mucleus. Identifv the orbitals depicted in graph A and graph B respectively. /

A fqu aw @t 7 aedr gee T fEeAdr (psif () F AfEE W Selacla H gl r &
Felel & &7 3 cTam 747 §| A% A U4 a6 B & HHM: T 31T FHaTh! HT Tedrel S|

5000
7 4000
{r) 3000
FX‘ 2000
1000
T T}
0 0.4 0.8
r(nm} r(nm})
Graph A Graph B

1.2s and 2p/2s Td 2p
2.2p and 2s/2p W 2s
3.1s and 2p/1s Wd 2p

4.1s and 2s/1s U4 2s

Correct Answer :-

e 1s and 2s/1s UWI 2s

48) What would be the age of a buried skull in which the C# activity is 20% of the activity found in a bone

piece at the present time? ( ty2 of C14 = 5580 vears ) /
U qWells 315 WIS &I 36 @ g, forgd CHafdfafdr adae aag & v g3t & ¢S
# ardt o wfafafEr fr 20% 872 (C# &7 12 = 5580 Fd)

1. 0.1797 x10 years / 0.1797 x10% T

2.2.34x 10% years / 2.34 x 10* a§

3.1.261 x 10° years / 1.261 x 103 T

4.1.261 x 10 years / 1.261 x 10* a%

Correct Answer :-

« 1.261 x 10* years / 1.261 x 10* T8



QOH OH
- o
] O

1. Fries rearrangement / TIgul Eﬁﬁf?mﬂ

2. Beckmann rearrangement /éﬁ?gﬂaﬁw
3. Pinacole rearrangement/mm
4. Hofmann rearrangement /ﬂﬁm

Correct Answer :-

« Fries rearrangement / ThIgSl H:Tﬁ?ﬂ%’-ﬂ

50) How would vou express the following in ST unit using the power of 10 notation?

: R |
(i) 72 pug (i) = day

a

/10 3hel & °TT BT ITAET Floh AT AF & SISHISAT 7 S hFd HLET
e

(i) 72 pg (ii)

1.72x10%g 432x 10%s
2.72x10% g, 8.64x10%s
3.72x10° g, 432x 103 s
4.72x107°g,432x10%s
Correct Answer :-

e 72x107° g 432x10%s

Topic:- Mathematics

1) 1ff(1)=1,n=1,f(n+1)=2f(n)+1,thenf(n) =/
IRF(1)=1,n=1,f(n+1)=2f(n)+18 @Af(n)=

1.n

Correct Answer :-



2) The number of 4-digit numbers that can be formed by using digits 1, 2, 3, 4, 5 such that atleast one digit is repeated
is ./

4&&%‘3&%@1%@ 1,2,3, 4,5 3] BT IUART HId g 39 UHR 1T o1 bl 8 [ $H A FH TP 3 [R1G o,
|

45 — 4
1.

4 _ gl
2 5 5!

5 _ngl
3.41- 5!

5% — 4
4.

Correct Answer :-

3) The distance between the points P (ab sin o ,0)and Q (0, ab cose) is /
fig P (absin?, 0) T Q (0, ab cos’) F T F g &:

1. ab

2. 2(atb)

3. 2ab

4. atb

Correct Answer :-

e ab

4) Equation of x-axis is: /

x-31&] BT FHIHIUT ¢:
Ly:ma¢0

Zx:ma¢0

5) The length, breadth and height of a cuboid are in the ratio 2 : 3 : 4 and if its total surface area is 208cm2, its height is /

TP YIRS P awaTs, A1STE Ue Sard o7 SguTd 2 : 3 : 4 € Td UFS ST Pl YHHT e 208 A2 R, dt S 2

1. 12 cm/ 12 99,
2. 4cm /4 9.



3.8 cm/ 8 I

4.16 cm / 16 ¥,

Correct Answer :-

« 8cm/8 Tt

6) ABC is an equilateral triangle inscribed in a circle of radius 4cm. CD is perpendicular to AB. The side AC =? /

ABC, 4 Tt T a1dt U 9 © 911 31T U THETg B0 1 CD, AB R da=U g1 @t Y=IT AC =?

) 3\.‘5 cm/ 3\."51':[#.

443em / 4/3EHT.
2.

4 Zem [ /2 AL
3.

243cm [ 243 .
4.
Correct Answer :-

443em /| 443

7) Coordinates of the point, where the Iine through the pomts (3, —4,—5) and (2,—3,1) crossestheplae 2x + y+z =7
are £

3% feig & Taderie, STai fdgaf (3,—4,—5) 3R (2, —3,1) & AT § @I, FAT 2x + y+2z =7 HI Hleal
& Bl

. (325)

, (-1,-27)
5 (127

4 (L-27)

Correct Answer :-

L @-27m

8) There are two cones. The curved surface area of the first one is twice the second. The slant height of the second one is
twice that of the first. The ratio of their radii is : /

3 g &1 UEA W BT aftbd TSI QTG TN T ANAT 2 | gk WP B AR s g 9 SR 81 St
rearait T srguTa

1.2:3

Correct Answer :-

o« 4:1



9) The diameter of a wheel is 84cm. How many revolutions will it make to cover 792m? /
TS TR &1 T 84771 81 7927 TRT Fe & e gg foraq ufvsmaor wem?

1. 300

2. 600

3.270

4. 210

Correct Answer :-
* 300

10) The area bounded by the lines y =x, y =0 and x = 4 is: /
maﬁy=x,y=0@x=4ﬁmaa%:

1. 14 squnits/145|7f37ﬂ_g

2. 4squnits/45|"'f$?ﬂ_$c

3. 8squnits/83ﬁ§$l§

4. 16 squnits/l6aﬁ3$|?§

Correct Answer :-

e 8 squnits/86|ﬁ§5b—[§

11) The maximum number of common tangents that can be drawn to two circles which touch each other externally is : /
= wRREret Bt Srfiean T, Wi 9T U 9§ Th gaR i W B IR &) gl R A et B

1.3

2.1

3.4

4.2

Correct Answer :-

12) The point C(a, b) which divides the line segment joining the points A(2, 5) and B(-5, -2) in the ratio 3 : 4 lies in the
quadrant. /

gg':éa, b), SiY A(2, 5) 3R B(-5, -2) gl 1 Siis WX BV 3 : 4 b U A R dzar®,  =wquiwrd
I

1 15/ 9Yq
2. 4t/ T
3. 2nd ) fgda
4, 3"/ qam

Correct Answer :-

. ond) T



13) The probability of friends Reena and Kavya not celebrating their birthday on the same day of the year (non-leap year) is
2/

Teferal $41 3R 1ot &1 7y (g I T8  FA &7 UR 31U SAE BT 5 9 791 &1 Ui dr g:

1.1

364

Correct Answer :-

362

365

14) The equation of the line which passes through the point of intersection of the lines x —2y +3 =0 and 2x + y—4 =0 and
has slope 2 is: /

wimagrﬁwmaﬁ,wﬁ%@aﬁx_zym=0@zx+y_4=o$uﬁmﬂﬁ§ﬁﬁmm%amm
UqUraT 2 81

1.2x+y=0
2.x+y=2
3.x+ty=1

4.2x-y=0

Correct Answer :-

15) The equation of the locus of a point which is equidistant from the axes is: /
s fig & figuy &1 wwiemwor g1a o3, St el & THgRe §:

lL.x+y=1

2.x= i2y

3.y=ix

16) The line segment joining the points (1, 3) and (13, -6) is divided by x-axis in the ratio: /
(, 3) 3R (13, -6) faigait B Ss T W1 TS, x-3Hef F §RT3H urd A faurfora gt 2:
1.1°2

2.1°13



3.1°1
4.2°3

Correct Answer :-

17) A bag contains 3 red, 4 white and 5 blue balls. Two balls are drawn at random. The probability that they are of different
coloursis__ ./

wﬂﬁﬁsa%a,mﬁo—damﬁﬂ?ﬁﬁ%%l grefey® +U A €1 e el St €1 31 A fafi & 31 €, st
TRedar R

1. None of the above / gqfr I Eﬁ_sc :133[

47
13z

47
1]

47
142

Correct Answer :-

47
66

18) A radioactive element disintegrates at a rate proportional to the quantity of substance P at any time t. What is the
differential equation of the disintegration? /

e Yy aea, fadt « g A uerd p &t 9 & 1Y U squifa® &R R faed wwar g1 fawe &1 s
e |7 82

dr_
dr

‘i—]t’:kp “herek}o.%}=k_PG|ETk>D

dp
dt

%’=kr- where k < o%’=1ﬂ: etk <0

Correct Answer :-

%J:kP where k < o%’=1ﬂ: SRk <0

19) If the length of the major axis of an ellipse is three times the length of its minor axis, its eccentricity is: /

& §iga & G a1al 1 daTE, THD 7Y & B AGTs B [T ¢, O SHST Sch&al oHi:

[ )



2 Ba |
m|r-ﬂ

B
tal

Correct Answer :-

20) If there is a 60% chance of rain today, then the probability that it will not rain today is i

Tfe 3msT IR Y FHTTT 60% B, Y 3T IR 7§11 B FUTET |

e | o L] Ba |

»
LR

Correct Answer :-

21) If the tangent to the curve x = atz, y = 2at is perpendicular to x axis, then its point of contact is: /
'Clﬁaiﬁx = atz, y= 2at3ﬂmT, x-a{&rwm%,a}mmﬁg%z

1.(0, 1)

2.(0,0)

3. None of the above / 3_'{3[ 9 ﬁ_sc T8l

4. (1,0)

Correct Answer :-

22) In triangle PQR, M and N are points on sides PQ and PR, respectively. If PM = 4cm, PN = 3cm, MQ = 12¢cm and NR =
9cm, then QR = ./

aﬁ}fﬁﬁ{PQRﬁ,‘g;nPQqﬁPRWMqﬁNm:a‘rﬁg%'luﬁPM=4ﬁﬁ,PN=3ﬁ'd’r,MQ=12ﬁ'd°rlza‘NR=9'\ﬂ1ﬂ%',
QR= |

1. 3MN
2. 4AMN

3. 2MN



Correct Answer :-
o 4MN

23) If (4, 0) and (-4, 0) are the foci of an ellipse and the semi-minor axis is 3, then the ellipse passes through which one of the
following points? /

TfE (4, 0) T (-4, 0) TH ST & g ¢ adT 3ef-ag &l 3 8, a9 g g FHuferraa § 3 fFa fag A giex Torarg?
1. (0, 5)
2.(0,0)
3.(5,0)

4.(3,0)

Correct Answer :-

24) What are the degree and order respectively of differential equation of the family of rectangular hyperbolas whose axes
of symmetry are the coordinate axes? /

AMATPR fIRTTT F URAR & awd TG & HaT: {330 aur wu wn €, e aafafa s, Fd=ne sier 32
1.1,1
2.2,2
3.2,1

4.1

Correct Answer :-

25) What is the equation of the curve passing through the origin and satisfying the differential equation dy = (y tan x + sec x)
dx?/

gﬂﬁmmﬂmwwam,ﬁﬁ%qﬁﬁgﬁﬁwm%ammmﬁwwqy tan x + sec x) dx P TG Bl

l.x=ycosx
2.y =X C0Ss X
3. y=cos x + sin X

4. y =log( sec x + tan x)

Correct Answer :-

e X=YyCosX

26) On increasing the diameter of a circle by 40%, its area will be increased by .
TS g9 & A B 40% TP TG W, TABT &6 TP ¢ ST

1. 96%



2.20%
3. 80%

4. 40%

Correct Answer :-
e 96%

27) How many numbers can be formed with the digits 1, 2, 3, 4, 3, 2, 1 so that the odd digits always occupy the odd places? /
Y 1,2,3,4, 3,2, 1 T TH fra wemd Hffa ot o awd €, e faum st aa favm we w 8 omie

1. 16

2. 14

3. 12

4. 18

Correct Answer :-

28) 1fx2 + 9y2 =91 and xy =5, then the value of x + 3y =/
mxz+9y2=91@xy=5,?|3x+3y3ﬂ':ﬂ7{=

1. £13

2. £10

3. £11

4. +12

Correct Answer :-
o £11

29) Two concentric circles are of radii 10cm and 6¢m. The length of the chord to the larger circle which is a tangent to the
smaller circle is ./

3 TPl g T AT 108 iR AN I R R aT A e S P s g wxR@e_ grfl
1. 12cm/ 1299

2. l4cm / 1477

3. 16cm / 169H!

4. 8cm / §HT

Correct Answer :-

« 16cm/ 1639t

30) A circle is touching the side DE of triangle ADE at F and touching AD and AE produced, at B and C respectively. If AB
=12cm, then AD + DE + AE = ./

U® g, P01 ADE Y YSIT DE F F UR G T8T © 3R 9eriY TS AD Ud AE F U B 3R C RGBT 21 Ui AB =12
T, AAD+DE+AE=___ |



1. 18cm / 18TH
2. 24cm / 249}
3. 30cm / 309HT

4. 20cm / 2094t

Correct Answer :-
o 24cm /2499t

31) A dealer sells an article for Rs.75 and gains as much percent as the cost price of the article. The cost price of the article
is: /

TS fahd1 U a¥g 75 TUT | S9aT 3 3R a%g ! ANTd B9 & SR7aR Ufa=ra § a1y urdr 8 | a%g 3 anTd $10d 8:
1. Rs. 70 /70 ®UQ
2. Rs. 60/ 60 2UQ
3. Rs. 50/ 50 >UQ

4. Rs. 55/55%UQ

Correct Answer :-
e Rs.50/50%0U

32) Which one of the following points lie inside a circle of radius 6 and centre at (3, 5)? /
Fraffaa # @ o1 ag fig 8, o Bsam 6 9u1 3, 5) W F5 910 TP 99 F 3R Ra &2
1. (0, 1)

2.(-2,-1)

3.(2,-1)

4.(3,-5)

Correct Answer :-

33) A fair coin is tossed repeatedly. The probability of getting a result in the fifth toss different from those obtained in the
first four tosses is: /

?ﬁwmﬁwaﬁ-wmm%lﬁﬁmﬂﬁmﬁﬁﬁuﬁ%aﬁﬁmm%fﬁa@%aﬁm

w0
Bl

Correct Answer :-



34) Ravi travels a distance of 36 kilometers in 5 hours. He travels a part of the distance on foot at an average speed of 4
km/hr. and rest of the distance on cycle at an average speed of 12 km/hr. The distance travelled on cycle is: /

A 5 92 | 36 fhaiies $1 g 79 a1 31 T g1 BT $O YR T8 4 fhaiiie el o1 9 | Ugd gaa a9 Hal gl
T} Bt gt AsfHa T 12 fpi/aver 31 3iud 91 WR 99 HRaT 3| AEfra A T B S R 3

1. 22 km /22 et
2. 12 km / 12 fpHt
3.20 km / 20 fpHt

4. 24 km / 24 ft

Correct Answer :-

o 24 km /24 &t

35) Twelve solid spheres of the same size are made by melting a solid metallic cylinder of base diameter 2cm and height
16cm. The diameter of each sphere is: /

THH ATPR & IRE 19 Tae! &Y, 2 T SMYR AT 3R 16 TH Bt HIATE 910 TP 319 YTfd® o &) fUrgemee
T 94T 8 | U el b1 T §:

1. lem/ 194
2. 2cm / 29T
3. dem / 495
4. 8cm / STHY

Correct Answer :-

. 2cm/2®1ﬁ

36) Equation of the plane cuts off three coordinate axes at A, B, C in such a way that the centroid of triangle ABC is (3,2,5).
Then its equation is .

Wm%mﬁww#—rmar&ﬁﬁzs, B, C IR 39 TE A PIedT ¢ fF AP ABC T = (3,2,5) 81 91 SHST JHIHI0T
|

1 10x — 15y — 6z = 10

2 10x + 15y + 62 = 90

3 11x + 15y — 6z =8

4 10x —15y+6z+10=10

Correct Answer :-

. 10x + 15y +6z =90

37) iff(xy)=1f(x)f(y),then f(t)may be of the form : /
e f(xy)=f(x)f(y), ddf(t)SHEYH g TPl &:
1. None ofthese/?ﬁﬁﬁﬁéﬁ



2.t+k

Correct Answer :-

&

38) Find the values of ‘a’ for which the center of the circle is (2a — 1, 3a + 1), diameter is 20 units and the circle passes
through (-3, -1)./

‘2> BT A 1oy, o T ga ST1HE 22— 1, 3a + 1) , AT 20 IHTS & 3R G (-3, -1) A [oRAT |

46
* 13

46
13

g
|

46
fo13
3.

46
T 13

l['\..'l
|

Correct Answer :-

) %
13

39) Find the eccentricity of ellipse, if length of major axis is three times the length of minor axis. /

3 g1 P Tehesdl 10 Y, TS T 3181 P TS, BIS e P} wars B A= TH B

3l

(3]
&

[T

[

40) Number of words formed by 2 vowels and 3 consonants taken from 4 vowels and 5 consonants is ./
4 TR 3R 5 o] A 1T T 2 WY 3R 3 el gRT wreg fAfifa g €1
1. 60

2. 120



3. 720

4. 7200

Correct Answer :-

« 7200

41) 1f a garden roller 140cm long covers an area of 43.12m?2, in 10 revolutions, then its diameter is : /
gfg 140 I a1 TH I TR, 10 TFHRI § 43.12 W2 §AGA B FaR Hl §, T SHBT AN §:

1. 84cm / 84 T

2. 120cm / 120 JHT

3. 72cm / 72 JHt

4. 98cm / 98 TH

Correct Answer :-

« 98cm /98 T

42) The period of the function f(x })=|sinx | +|cosx|is: /

Tl f(x)=|sinx|+|cosx | & 3ad (s &

a8 @A L

wld

Correct Answer :-

43
) If one zero of ax? + bx + ¢ is zero, then which one of the following is ue? /
afe ax?+bx +c & Uh P, T b, df [AOFT & & i 77 0 Tea @
1.a=0
2.b=c
3.b=0
4.¢=0



44)
If 43(“?"—6 = ‘1‘3':-3?...'.1 R thEﬂ T = J'I

afg 43C,_; = 43Cq,4,, a0 r =

1.6
2.12
3.10

4.8

Correct Answer :-

Ifin AABC. AB=18mm, BC =2om, AC= 2\-’5 cm, £B = 85° and in APQR, PQ =3 6cm, PR =40m and
RQ =42 cm, then the measure of #Pis: /

fE AABC #, AB =189, BC =284, AC =242 94T, 2B = 85° 3 APQR #, PQ = 3.69HT,
PR = 43#HT HRRQ =4/ 28T, AT 2P &7 AT &

46
) IfnC,+nCp=(n+1) C; then x= |

fe nC,+nCpe=+1)C; dlx = [

4 r—1

Correct Answer :-

47)

Il
=

If x+iy=(1+(1+20)(1+3i), then x2 +47

I x+iy= (1 +D1 +2001 +3),Wx2+y2 =



2.50
3.10

4. 100

Correct Answer :-
e« 100

48) e
The middle term of(x.’x——,_) is o

(vx- i_f FTHETG Bl

W

1. —40

2. =20
3.20

4. 40

Correct Answer :-

49
) [f4x 2=+l _9x22+1 =0, thenxis:/

TG 4% 233+ 9% 25+1=0, dl x&:

1.30r-3/397-3
2.1or-3/191-3
3.00r-3/091-3

4.00r3/0973

Correct Answer :-

e Oor-3/09U7-3

form of 0. 68 is: /

[ R

463

462
1000

467
3. 1000

467



Correct Answer :-

268

593

51) =
Simplify ——

V3 +2y5

by rationalizing the denominator /

& 1 IRAFT RIETERS) R F Wellbd HIT]

W3+

2410— /8
17

6+ 2410
17

W6 — 2410
23

6 + 2410
23
4,

Correct Answer :-

2410— /8

. 17
52) o ) ) e . C X
A two digitnumber is formed with the digits 2, 6 and 9, whererepetition of digits is not allowed. Find
the probability that the number so formed is =69 /
T bl H&AT & GEABI 2,6 3N 9 W F=r Sfran &, fowe fohed off dwar &1 g IR
STHTRT el Sl IRIT =8l &1 Iehel Fd ST & I8 & 37 W1 <69 |
2
1.3
:
2. 3
.
3. &
:
4, 2

Correct Answer :-

53) If b* — 4ac is positive and a perfect square, then the roots of the equation ax? +bx +c are:/

A b2 — dac YA IR TH GOT @7 B o THAEROT axd ~bx+c & FA &



1. Imaginary and unequal / P R SRHAH
2. Real and unequal / IR 3R A

3. Real and irrational / ARG 3R ARAT

4. Real and equal / IR 3R SIS

Correct Answer :-

» Real and unequal / IRATIP 3R A

54)
Iff[x)=cos(logx)zﬂlenf(i)f(ij—%[f(i—r_)—f(xy)]is: /

A £ (x) =coslogx) B £(2)E(2) - £(5) £ (xy)] G

e 0

55)
If @ is the angle between two vectors a and.b then ! T'_ equals=7/
afe & wfeali dvd b & @9 6 v FoT B, HH'I"T";’I—'ﬂ

1. tane

2. sine

3. cote

4. cosﬁ

Correct Answer :-

56 T, T,
) If T_ in the expansion of (a +h)™ and 'I_'_ in the expansion of (a + b)?*2 are equal, thenn = A

4

afg (a+b)» & FEOT 7 %m(aw)nﬂ & GERT A i_ R &, din=

4
1.5
2.3
3.4

4.6

Correct Answer :-



57) Ifthe polynomial x*+ 2x*+ 8x2 + 12x + 18 is divided by another polynomial (x? + 3), the

remainder comes out to be px + q, then the value of p + qis: /
g ague x* +2x° + 82 + 12x + 18T g agUe (X +5) & fawnfald fovar e &, at
YTl px + q fAFerdr . p+q & AT BET:

1.5

2.3

3.2

4.0

Correct Answer :-

¢« 5
58) In AABC, perpendicular AD from A meets BC atD. If BD =8cm, DC = 2cm and AD =4om, then: /
AABC #, A¥ @dAD, BC ¥ D W THeldr §1 3¢ BD =8TH!, DC =28H! FITAD = 48#], dT:
1. AB=2AC
aH__ BD
AC  DC
2.

5 AABC is equilateral / AABC HHdTg &

AABC isisosceles / AABC THCIAD ‘:‘E B

4

Correct Answer :-

« AB=2AC

59) For what value of A , the planes , Ax + v + 3z = 4 and 3x — 54y + 3z = 3 are perpendicular. /
A g AR & A, \dd Ax+y +3z=4 ¥R 3x—SAy + 3z = 374 §

1.3

Ba |l

Correct Answer :-

Ba |l



Equation of plane through (1,2,3) and parallel to the plane 7. (i“ +2j — 532} +9=0 is A
HHAA 7. (1 +2f —5k) +9 = 0 & FAADR 3R (1.23)F ATH F AT HT FARLOT Bl

1x+2}-‘—52={]

2 x—2y—-5z+10=0

3 x+2y—-5z+10=0

4 x+2y+10=10

Correct Answer :-

L Xxt2y—5z+10=0

61)
Total number of terms in the expansion of (x + a) %% + (x — a) 1%° after smplification is o

TAERT & T (x+ a)1%0 + (x — ) 100 & GEROT A Ugl I el TwAm RE

1.202
2.51
3.50

4. 101

Correct Answer :-

3.0

de |

Correct Answer :-

1
a
L]
63) B
Ifsin™'x+sin™1y = e thencos™'x + cos™ 1y = A
ay e e P o .
fg sin1x + sin 1}-‘=?=Fﬂ'cos lx+cos iy = [
2
3
1.
4w
3



N

WA

Correct Answer :-

64) Which one of the following statements is incorrect?

I. The sum of two rational numbers is always a rational number.
I1. The sum of two irrational numbers is always an irrational number.

II. The product of two rational numbers is alwavs rational number.

IV.  The product of two irrational numbers is always an irrational number. [

frafaf@a # d =la a1 v Faa 799 872
I 2 IRET ST & OT gHeT Ue OREY §Edr gdr 2
1. & 39T GEaEi & 9T g8 U6 3aRET g gt gl
. & IR G &7 UG gaem IRAT J&d1 gidr &
IV. & 3R SEamsd & UEThe gHeT U 3aRET e g gl
1. 1& IV only / HId 1 3R IV
2.1& Monly /AT AR II
3. 11 & IV only / ad 111 3R IV
4.1 & IV only / Had 11 3R IV

Correct Answer :-

« &IV only/Had II 3R IV

65)
lim,_x=[sinx] =
Z
1.-1
2.1
3.0

4. Does not exist / Iﬁﬁﬁ T8

Correct Answer :-

1428
1-(1-i)%

afy 7= L aF arg (Z) =

1-(1-i)= '

fz=

,then arg (Z) = A

1.0



67)
IfZ=4i% —5{% +6{17 + 2, then| Z| = -

afg Z2=4i%0 — 5% 4 617+ 2, G| Z|= |

V157
68

) The unit place digit in 2*x 5% -9 is: /

24 5% _9 ¥ SepI5 T U T arell 3% &

1.1
2.9
3.8
4.0

Correct Answer :-

o 1
69)
. . . . x—1 r—2 £—3 x—4 r—1 =.
Point of intersection of the lines — =)3 =Ta.ndT=)T=Ils A

e =—1 2 £—3 x—4 »—1 -4 c
ECCIEi] = ZTBﬂTTZ ZIEFFEI aﬁ;ﬁﬂﬁg %_|

2 3 2
, (-1,-1,-1)
, (114
3 (LLD)

4. (_1J2J _3)

Correct Answer :-



70) = -1 13wy _
Value of cos (CDST)— A

cos'l(cosﬂ?ﬂ) &l A =

WA

oA

Correct Answer :-

71)
The solution of differential equaﬁon% +v=e*is: /

e AT &L +y = e HT G B

1. None of the above /Eﬁﬁ I ﬁ’sﬁ qﬁ

v=e*+ ce®
2.

y=2x+2ce*
3.

L
¥ =-e*+ce®
4. -

Correct Answer :-

72) 2 i

If the 7 term from the beginning and the end in the expansion of (‘\IE + 3_'5) are equal, then n= )

&
a ] 5

aﬁ:(ﬁ+ﬁ) & JEROT #F HRES 3R FT ¥ 77 9 S¥eR B, ol n= |
1. 14
2. 11
3.12
4.13

Correct Answer :-



73) Ifin the expansion of (1 + x)2°, the coefficients of r* and(r + 4)* terms are equal, then r = |
e (1 +x)2° & YEROT &, v R (r+4) ™ Gal & I00E e b, df r = |

1.7

2.9

3.6

4.8

Correct Answer :-

9
74)
The derivative of sin-! (v;:ﬁ ) with respect to cos? [:v% Yis:f
cos? (v%) & T H sint [V%) GO B
1.-1
2.1
1
3 et
-1
4

75
) If one zero of the quadratic polvnomial f(x) =x? + px +q is four times the other, then 4p* = ./

afe gfaaTd agug fix) =x* +px +q B W Yrd, QX T IR I & ol 4p=__|

1.9q
2.25q
3.7q

4. 15q

Correct Answer :-

e 25¢q

76) =+ - i e e - F m o om 3 =2 O
fa=214+3]—k b=-4+2j—4k andc=i+j+ k then(axb) . (axc )isequal to: /
e 4=2i+3j—k.b=-4+2j—4k. AAC=i+j+k.dd (dxb).(dx ) STF &N &

1. -60

2.74

3.-74



Correct Answer :-

. 74

VIFx+ ==

L dy .
- Bl "
If v = sin{ . 3, then oL /

ey = s () Fa &

—1
PN
78)

If 1 and -2 are zeros of x* — 4%° —x? + 16x — 12, then the other zeros are: /
gig 1372, x* -4 -2 +16x-12 & ¥4 & df 37 9 &

1.2and3/2 3R 3
2.2and-3/2 3R -3
3.-2and3/-2 3R 3
4.-2and-3/-2 3R -3
Correct Answer :-
« 2and3/2 3R 3

79) If the sum ofthe circumference of two circles with radii R; and R, is equal to the circumference of a

circle of radius R, then -/
afg Bream Ry 3R Ryarer & et 1 aRfT &7 den B2 R & U god & aifd & et
g.4ar:

R]'RJ=R
1.

R +R:=<R
3.

B +R:=R
4.

Correct Answer :-



If 04 and OF are two vectors such that | 04+ 0B |=| 0A +2 0B |, then:/
Ifz OAUd 0B o 6y 58 YR & 7% |0A+0B |=|0A-20B |, a9 :
1 LBOA < 507
307 << +BOA < a0°
2.
£BOA =507
3.
4 £LBOA =907

Correct Answer :-

£B0A = 50°

SI+ 2
4. :

Correct Answer :-

5i+j+2k
2 _ . _
82) z-y3-v=3.the Re(Z D)= N
A Z=v2—+—3. AT Re (Z D)= |
1.5
2.3
3.0
3
g "

Correct Answer :-



83)

— — d2y ;
Ifvx+,/y=+a. thmd—;; atx =ais =
— —_— dﬂ_
qﬁw’x—\EZw’ﬂﬂT:{:aW E::F Bl
l.a
2.2a
3 a
1
4 2a

Correct Answer :-

B e

84
) If the circles x2 +y?=a? x?+ ! — 6x — 8v +9 =0 touch externally, then a is equal to- /

Afg ged x2+y? =a? Ud x? +y!—6x -8y +9=0 UF gaY $I dIedd: @ Hd b, dd a =

1.3
2.1

3.2

(RN

Correct Answer :-

o 1
85)
Ifsin~lx + cot_l%zgzthenxz _1“
afE sintx+cot 12 =5 Arx = |
45
1.
5
2.
2\"'3
1
'\."E
4,



86
) Amplitude of 1—i is A

1 — { BTHIH Bl

87) The line x cos o + v sin @ =, and x cos § + v sin § = p, will be perpendicular, if- /
{E¥ xcosx+ysinag=p, Ud xcosf +ysinf =p, HT9T & wlaad s, Al

la-g1=2
88) Solve / e HifoTy:
P aBen T 18 op
P q Poq

Correct Answer :-



1 1
p=-—:9=—-
2 2
89) 52 1 Iy+l 1
- S N o S | i i =
If the lines e = s and o - are perpendicular, then A sl
g IS Iy _loEggex Wil s -
e sA+z 5 1 aml 44 -3 Ba=___ |
1.5
2.7
s
3. °
1
4. *°
Correct Answer :-
.
5
90) : g . . dy :
The solution of differential equation—= = e*~¥ +xlevis: /
|

el GHIHOT g=e“‘}'—x3 ev &1 & BT

e¥=ex+3cC

%3
eF=e’i+?+c

gFr=ei+xi+C
e¥texr=xi+c

Correct Answer :-

91) 1f (a+b)=3 anda? +b?=5, then the value of a? +b? = d
qfE (a+b)=3Td a?+ b =5 dd a’ +bIHl A = |

1.9

2.6

3.12

4.8

Correct Answer :-

* 9



92)
In the adjoining fig AB|DE. f £ABC =110° and £CDE =507, then £BCD = /

Hetae {97 # AB|DE 81 If¢ £ABC =110 94T £CDE=50° §, dd «£BCD =

Correct Answer :-
1200

93 - . . .
) Angle between the lines # = (21 — 5§ + k) + A(31 + 2j + 6k) and ¥ = (71— 6k) + u(i+2f + 2k) is

S

7= (20— 5j+k)+a(3i+ 2j+ 6k) 37 = (7i —6k) + pl(i+2j + 2k) W@HT & &= F HI0T
&l

Correct Answer :-

;19
cos 1=
21
L]
94)

A sector is cut from a circle of radius 8cm. The angle of the sector is 457 The area of the corresponding

major sector is /

8 WAL B & U g @ Us BISIds & ST AT Heas & ST 45° §1 T JE
THo2/@s &1 &A% Glam -



250 cm¥ 250 ¥AT2
154cm? / 154 THAT2
192 cm¥ 192 §#I1.2

176 cm¥ 176 §#HT1.2
4.

Correct Answer :-

176 cm¥ 176 &HI1.2

95) . . ; :
If A is an imvertible matrix of order 3, where |A| =5,then|A1|=__ 7/
A A, FH 3 F GHAYIT TR & S| A] =5, dr A= |
1. 25
2. 72
3. °
L
4. %

Correct Answer :-

Iff (a)=log (2= ) for0 <a< 2, thenf () =7 /
gfto<a<2 & fow f(a)=lng(§_+:)’g';: W%fiqfia:':?
1.1
2.a
3.0
4.f(a)

Correct Answer :-

97
) In AABC, BC =3cm, CA = 6cm, and AB =7cm. A circle is drawn to touch AB produced at B, AC

produced at Q and BC atP. The length of AQis___ ..
AABC #, BC = 399, cA =60, 3R AB= 791 §I & gd 59 YN g 340 b 98

ITUET AB & R W, 3c0Tied ACH QW HRBC & P TI F{|AQ &I vars__ &l

1. 7em / 79H



2. 8.5cm / 8.59HT
3. Scm / ST
4. 9cm / 9T

Correct Answer :-

. Scm/SYH

The coordinates of the point for minimum value of Z=x + 7y subjectto—x + Tv = 8, x—-v=4,x= 0,
v=0is: /
x+Ty=8,x-y=4,x20y=0 & ded, Z=x+7y & vgddd A & forv fdg & Aus
CIH

1. (0, 0)

2.(6,2)

3.(4,0)

(0.2)
4.

Correct Answer :-

99) The height of a right circular cone is 20cm. A small coneis cut off at the top by a plane parallel
to the base. If its volume be g of the volume of the given cone, then at what height above the base

is the cutting made?/

U oF dedid A I eI 203HE| U BT 6 A, AR W T GHAS
HAAICR e@RT ofd I Frer aman| afe swa 3maas & 71 oF & aad &1 g
IR & FW fFdedl a5 W TS el =

1. 15cm / 15991

2. 12cm / 1294t

3. 8cm / 8YH

4, 10cm / 1099t

Correct Answer :-

« 10cm/ 1099t

100) When 1 is added to each of two numbers, their ratio becomes 1 *2 and when 5 is subtracted from each of them,

their ratio is 5° 11. The difference between the numbers is: /

W9 & TEmsi # ¥ yd® A 1 ST raT 8, ) ITST AU 1 ° 2 I W4T @ 3R O YAP A | 5 ) uern Sral §, ol
T SUTd 5° 11 g1 T3t & S 3iaR 8:

1. 36
2.71
3.26

4.35



Correct Answer :-



